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a) a 

he figure in the margin indicates full rnarks, Candidates are required to give their answers in theit 

ab 

BRAINWARE UNIVERSITY 

Choose the correct alternative from the following 

Term End Exanination 2023 2024 

b 

value of a.ß= 

a) 5 
) 4 

Ify =x, then calculate the value of dt 

own words as far as practicable] 

a) 1/2 
c) 1/4 

Group-A 
(Multiple Choice Type Ouestion) 

(ii) Identify the value of i29 

b 

d) b 

If a=3i +4j+2k and ß=3i-j+k then identify the 

brary 

dy 

b) 1/3 
d) -1 
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(v) Ifx =a sint, ,y= b cost then calculate the value 

(v) 

(vi) 

(vi) 

(X) 

a) b 

of d 

a) i 
c) 7 

( 

a) 4 

Identify the Modulus of +- is 

cott 

Identify the value of 

a) sinx 

a) 3 

c) V3 

c) 9 

cosec²t 

COSX 

2 

Determine the value of the determinant lo 

b) cott 

d) þ 

344 

b) 1 

f= tan l 
cosI 

d) None of these 

b) ) 
d) 

(vi) Identify the value of 2 sin 30° cos 30° 

sin x-= 
d) 

b) -_inx 

-tan t 

d) 

none 

-COSX 

b) 1 

b) 6 

(i) Identify the correct value for logarithm of 1728 to 
the base 243 

none of these 

d) None of these 

b) 1 

|1 2 

2 
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l3 6 gl 

1+ sin x, then calculate the value of d 

6 olis 

dy 

RamiVersity 
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(b) If log!=4then identify the value of x= 

(xi) 

a) 1 

(xiv) 

(xv) 

2. 

)3 

) 49 
(xiil) 

If the difference of the roots of the x + px+8=0be 

a) t4 

then detemine the value of p 

a) 

b) 2 

a) cot A-cot B 

d) None 

lim 

) cot Atcot B 

ldentify the value of r-2x-3 

3. Let 

b) +10 

x, 0<x<1 
f(x)= 2-x, 1sxS2 

d) +6 

Identify the value of log,xlog log, = 

x-3 

b) 1 

d) none 

Identify the value of sinA.sinB 

b) abc 
d) 0 

sin(A-B) 

b) cot B-cot A 
d) 

Group-B 

none of these 

(Short Answer Type Questions) 

Identify the value of the limit : lim(** + x) 

Library 
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Examine that fx) is discontinuous at x=2. 
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3 x 5=15 

(3) 

(3) 
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10. 

If 

Show that 

If 

AB. 

If 

tan 

The co-ordinate of two points A and B are 

(1,2,5) and(-18,5,3) respectively then 
evaluate the value of AB 

2j+3k and 3i-2j+k. 

-13 5) 

Evaluate the magnitude of vector, 
rij+k? 

f(x)dog 

(1 3 swrite the matrix 

7. Evaluate the angle between two given vectors i 

2 -2 4) 

C--1 3 

OR 

Group-C 
(Long Answer Type Questions) 

ix examine that 
( 2x 

"a() 

ldentify the value of the limit *2-2x+2 lim 
3x +5x+2 
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2 3), identify the value of C +cT? 

B) 

(3) 

(3) 

5x 6=30 

(5) 

(S) 

(S) 

(S) 



If sinx='then identify the value of coSX 7 

3and 

value of 6B-C? 

If 3 and 

value of B-6C? 

OR 

3, evaluate the 

c.evaluate the 
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() 

() 

(5) 
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